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|
U | 1 u, U, I s { Y T
T. . L
v Alv v mA  mAIV | VIV | ke W |
| | |
CK600 AX| Ray | 9 |1,25| 0,425 | 135 -5 4 1,6 ‘ 15 } 10 \
135 | -5 2 065 | 135 | 208 A1
D1C eur 11125 005 | 1435 aximum | 0.5 R
135 ~75 3 12 | 12 | 10 A1
D2C eur 1 (1,25} 01 135 —30 7 (Il =1 mA) ‘ ~osc. — C tgr.
135 (f =350 MHz) maximum 0,6 i
DC 11 eur 2 11,2 | 0025 | 90 ~2,5 2 1 15 16 04 |
DC 25 eur 3 (12 | 0025 | 90 ~35 1.8 085 133 ' 15 04 |
DC4 W | Lor | 4 |12 | 0,02 90 —4 2 0851 125 145 | 04 |
150 45 14,5 37 | 15 | 4 ‘
DC 70 eur | 5 1125 02 {150 (f= 500 MHz) maximum 24
150 ~3,5 20 35 | 14 = 4 Al
DG 80 1, 0, , ' :
cs eur é 25 2 {150 20 ‘ rosc. — C tgr
(f =470 MHz) maximu 3
1¢Co9 Tes | 10 [ 1,25 | 015 | 130 | —25 7 1,5 ; 1|
iD3 amer. 7 1251 03 90 -5 12,5 341 9 - 2,6 \
135 -5 4 16 | 15 | AT
) 135 9 (R, =10 kQ; I, = 05 mA)  osc.
5676 int | 10 | 1,25 | 012 (f = 100+ 350 MHz) 1 |
135 maximum (I =10 mA)
5677 amer| 10 | 1,25 | 0,06 | 135 _55 1,9 0,85 16 |
5801 amer| 8 125 001 | 135 -2 0.2 015 30 i
5828 amer| 8 [1,25 | 0,01 50 ~0,5 055 | 04 | 175 |
675 | G MQ) | 3,5 21 | 23 ‘
5971 Ray | 11125 008 {135 Cs yall 2,15“ 7 |
6029 | Ray | 10 | 1,25 | 0,2 90 4 11 2 | 85 \
6286 | Ray | 10 [ 1,25 | 0425 | 675 | —2 6 24 | 11,5 |
Equivalents
1E3 amer = DC 80 | 6375 Phi = DC 70 | CK 5677 Ray =5677
957 amer = D1 C | CK 556 AX Ray = 5676 | CK 6029 Ray =6029
958 amer = D 2 C | CK 568 AX Ray = 5677 | CK 6050 Ray =5676
958-A amer= D 2 C | CK 573 AX Ray = 6029 | VX 23 A amer =5801
6050 Ray = 5676 CK 5676 Ray = 5676 | XFR 3 Hiv =5676
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o | Cele | Cor | Cor T Cag | Car | Cer | o Cag | Car | Cof
| pF | pF pF ' pF pF | pF ' pF PF | pF

D1C | 12 . 07 | 03 DC 70 1,4 | 1 1,25 | 5676 2 | 4 | 13

D2C 26 | 08 | 06 = DC80 15 | 075| 125 5677 2 38 | 1.3
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